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1) (a) A line has the equation y =5x - 7. What is the gradient of

the line? Circle your answer.

1
5 -7 -5 — 7
)
1)
(b) What is the y - intercept? Circle your answer.
5 7 5 1 7
5
1)
(2 marks)
2) (a) Find the equation of the line:
Yy
A
;
6
2
0 1 2 3 4 5 6 7 8 9 10 ’ &L
3)
(b) Does the coordinate (15, 8) lie on the line? Explain your answer.
(2)
(5 marks)
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3) (a) Which of the following is the equation of the straight line graph?

Circle your answer.

y=Tx y=x+7 y=x-7 y=T-x

<

0 1 2 3 4 5 6 7 8 9 10 > z (1)

(b) Calculate the x value when the straight line intersects with the line y = - 8.

(2)
(3 marks)
. 1 .
4) (a) Show that the straight line x = — 1 (4y + 3)has a gradient of —1
Lo 3)
(b) Sketch the graph of x = — 1 (4y + 3) on the axes below.
y
A
0 ’ T
(3)
(6 marks)
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Question Answer Marks
1) (@) | A line has the equation y =5x - 7. What is the | (@) 3 @
gradient of the line? Circle your answer.
5 -7 -5 l 7
(b) | What is the y - intercept? Circle your answer. | (b) =7 @
1
5 -7 -5 - 7
5)
2) (a) | Find the equation of the line: (a) _5-0 1 a
Y m = = —
10-0 2
: c=0 1)
s 1 .
= —=z
4 y=73 ey
TL 1 2 3 4 5 6 7 8 9 10 } T
(b) | Does the coordinate (15, 8) lie on the line? (b) o l % 15 — 7.5 1)
Explain your answer. y= 2 o
No @
3) (@) | Which of the following is the equation of the | (@) »y=7-x @
straight line graph? Circle your answer.
y=Tx y=x+7 y=x-7 y=T-x
y
TH 1 2 3 4 5 6 7 8 9 10 } z

thirdspacelearning.com

Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

3



GCSE Algebra | GCSE Exam Questions | y = mx + ¢ Answers

THIRD SPACE
LEARNING

GCSE Exam Questions: y = mx + ¢ Answers

Question Answer Marks
(b) | Calculate the x value when the straight line (b) -8=7-x @
=15 1
intersects with the line * M
y=-8.
1
4) (a i i - _ a 1
) (3) | Show that the straight line z = 1 (4y+3) |@ r— -7 (4y + 3)
has a gradient of —1
4x = - (4y +3) @
4x=-4y-3
4x+4y=-3 1)
4y=-4x-3
; (0))
= — T — —
Y 1
1
(b) | Sketch the graph of z = — 1 (4y+3) on (b) i
the axes below.
Y
A
0 >z
0.-2) A Y
0 > z
Straight line drawn 1)
y - intercept highlighted 1)
Negative gradient 6}
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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